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Test 1

This test is graded out of 50 marks. No books, notes, graphing calculators or cell phones are allowed. You must show

all your work, the correct answer is worth 1 mark the remaining marks are given for the work. If you need more space
for your answer use the back of the page.

Question 1. (2 ks) 45 is 20% of what ber? RS
uesti marks 18 of what number Pg veen Z/Lccg@ _ &Lg;(’/ ( o 06)
45 = Base (O20)
225 = Ppee

Question 2. (I mark each) Simplify and write all answer without using exponents and decimals:

b.
-2 = - 2« _?:i = ??}:
("—5—2> (3%{) 7 4
C. o 5 — :-9/\2
(5) ° % 125
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Question 3. (2 marks each) Simplify and write all answers so that only positive exponents remain:
a.



Question 4. (5 marks) Simplify and write the solution so that only positive exponents remain:
- . 3 -2
x2y3! 2 -X7 !z
—x3y=2;0 - X—::g 3z

[_’l);l (Xg]a(ljhl) 3

s

{
Xb\

i
>
>

Question 5. (3 marks) Simplify;

—B—d(x+5) A — (1) = —[g—Hx»Q& +x]=-X+]
-[-12-3x] - x + 1

12+ 3% - x + |

= |3 +2x
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Question 6. (2 marks) Expand and simplify:
2 -
(e +1)(x—2) = 3K [x ~ax+x -2 ]

= 3x? [)(Q"‘X"Q:]
< 3x7-3x3~6x"



Question 7. (4 marks) Expand and simplify:

(r+2)(x—3) — (r+ 3~ 13 |
= x%yax- 3x- 6 - J&+3) =t 3) - 13
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Question 8. (4 marks) Divide using long division:
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Question 9. (2 marks) Factor completely:
= )2}(2 +3x+Ex + 2

= 3x(49x + 1) F R (Y +1 )
= (%(-{—))(BX*}'Q)

1222+ 11x+2
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ax3(2)=349x = al
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Question 10. (4 marks) Simplify completely:
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= xX=n - X + _A L.cl) = (x+l7b<%é)
x+1)(x+6) %6 X+ /

= ¥~ X))y 2(x+6)
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= XS - xPex p X +I2
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Question 11. (6 marks) Simplify completely:

x—|—5x 2—x— 20 | 224 3x
x2 —25 3x+12 332 —27
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=N

= (x-3)
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Question 12. (2 marks) Solve for x:
5(x— 6) = —2(15 — 2%)
6)( ~30) = —3@ +H x
b’x.,”f)( :’3@-7' 50
X = G

Question 13. (3 marks) Solve for x:

4x+1 2x+3  Sx—1

(Ex-1)b3
e

2 3 4

M@ffa_ b3,

- 5 )
o l4dxr1) “d(@xe3) = 3(5x-1)
2x+§ - X - L Joxe

2x-gx - 16K )3
X = 3

Question 14. (5 marks) Solve for x:

7 2‘_ 1
P2—x—6 x—3 x+2
7 2=
(%3x+2) (x3) X+ 2
7[5 - ADr2) = )(XIB)[M/ﬂﬂ
(%<3 V=) (3] X2
7 ~afwa)=s X3
7-3ax=Y  X-73
7'6"*"3 = X + X
¢ = 3%

= X

L c)=(x-3Uxt2)
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